Question 1

(348 is a riangle and GBDC is a rectangle where G0 and 8C intersect at £,
F is the point on CD such that CF = § CD.

— —% —
4 =a, OB =band OC =¢.
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(a) Express, as simply as possible, in terms of one or maore of the vectors a, b and e,
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(i) EF.
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(b) G is the point on AB such that OG =3a+2h.
_i
(i) Express AG interms of a and b
Ciive your answer & simply as possible.
I LTI S ——
(iiy Find AG: (&8,
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(i) Express FOoinoterms of a, boand e
Ciiwve your answer & simply as possible.
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Question 2
m= 3 n= _1)
-2 4_

(a) Calculate m—2n.

(b) Giventhat sm+3n= ( ]f) . caleulate s and « .
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Question 3

(a)
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In the diagram, ABCDEF is a hexagon with rotational symmetry of order 2.

EE=2p, EE=q and AF =r.
Xis the midpoint of CD and ¥ is the point on AB such that AY: ¥YB s 3: 1.

(i)

How many lines of symmetry does ABCDEF have?

ARSWEr (1]
(i) Express, as simply as possible, in terms of one or more of the vectors p, q and r,
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Question 4
(a) A=(_1 2) and B=( 4 2)_
3 -1 = e |

(i) Find AB.

Answer 121
(ii) Find B~
Answer 2]
—_ 12 —= (4
(b) FQ=(E} and QR=( 1].
(i) Calculale|F§|.
ARSWEF o [2]

(i) Find PR.

Answer [1]



(c) You may use the grid below to help you answer this question.
T'is the point (13, 7) and U is the point (8, 9).

(i) Find TO.

Answer (1]

(ii) TUVisanisosceles triangle with TU =TV .
The y-coordinates of the points L' and V are equal.

Find the coordinates of V.

(iii) # is the point (1, 3).

Calculate the area of triangle TUW.

Answer . units® [3]
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